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Obviously, A will be positive, zero, or negative. Supposing first A to

be positive, the square root
T E-E
£T27=Vios

will be real, and we shall take it positively. Then, A and B will be real,
and by VA we shall mean the real cube root of A. Since p is real and

VA.VB=-L
3’
/B will be the real cube root of B. Hence, equation (1) has a real root
h = ‘\'/Z + ‘\’/E,
but the other two roots,
3 3 3 3
n=aVA+aVE - - YARYE g VA-VE

VALVE . 5Y3-VB

will be imaginary conjugates since A and B are not equal and conse-
quently

y.-w’\'/Z+w\'/§=—

VA — VB #0.
Example 1. Let the proposed cubic equation be
?+22—-2=0
First, it must be transformed by the substitution -
zmy— 14
The resulting equation for y (best found by synthetic division) is
v My= =0,

-1

Bothat :}_-:j‘ P J‘ - Wy -« R
1 ‘52 52 4
p-—gy q=—2—7-r A’-ﬁ—ﬁ-lm.
Hence,
1/IA_.._5___, A=26,5V2T o 2%_ 5VaT
08 27 27 27 27 27
VA = 14V + 15V3, VB = 1§V2 — 15V3,
and

y,-%(\’/%+15\/§+ V26— 15V3), - 5 -

o= —%(\'/264- 15v3 + V26 — 15V3) +‘—‘g—§(\'/26+ 15V3 — V26 — 15Vv3),

Yo = —%(\'/zo_+ 16v3 + V/26 — 15V3) —"—;/—5(\’/26“5\/"— V26 — 15V3).
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